pr < 0.8 GeV/c

0.8 <pr <1.2GeV/c

pr > 1.2 GeV/e

/s = 0.9 TeV

25<n<3.0
3.0<n <35
3.5<n<4.0
4.0<n<45

0.086 £ 0.001 £ 0.021
0.062 £+ 0.001 £+ 0.008
0.076 £ 0.001 £ 0.010

0.328 £0.007 £ 0.104
0.208 £0.004 £ 0.016
0.175+0.003 £ 0.011
0.233 £ 0.006 £ 0.022

0.300 £ 0.008 £ 0.034
0.272 £ 0.007 £ 0.023
0.252 £ 0.007 = 0.020
0.301 £ 0.013 £ 0.047

5 =17 TeV

25 <n<3.0
3.0<n <35
3.5<n<4.0
4.0<n<4.5

0.085 £ 0.001 £ 0.017
0.069 £ 0.001 £ 0.008
0.051 £ 0.001 £ 0.007

0.235 £ 0.004 £ 0.039
0.174 £ 0.002 £ 0.009
0.156 £ 0.002 £ 0.006
0.184 £ 0.003 £ 0.010

0.262 + 0.004 £ 0.014
0.245 £ 0.003 £ 0.011
0.242 +0.003 £ 0.010
0.244 +0.004 £ 0.017



